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One of the following methods possesses the characteristic of
‘Objectivity’ at the highest level.

1. Observation method
2. Interview method

3. Case study method
4.

Experimental method
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One of the following is not related to the scope of Educational
psychology

1. Methods of Learning
2 Educational philosophy
3. Development of thinking
4 Educational statistics
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Fill in the blank

Development = f (maturation X )

1 Intelligence
2 Imitation

3. Learning
4

Personality

e = £(FE x )
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The following statement is not related to cross — sectional
approach

1. The same sample will be observed for a long period
2. Short term observation
3. It won’t examine the cause and effect relationship

between variables

4. Variables are observed several times at specific intervals
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Which of the following theory is known as ‘constructivist
approach’.

1.

2
3.
4

Self-concept theory
Piaget’s Cognitive development
Kohlberg’s moral development theory

Thorndike’s Trial and error theory
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One of the following does not belong to the tests regarding DAT
(Differential Aptitude Test)

1.

2.
3.
4

Concrete Reasoning
Abstract Reasoning
Verbal Reasoning
Spatial Relations
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One of the following aspects of aptitudes helps to guide the
selection of courses for one’s future

1. Scholastic aptitude
2 Aesthetic aptitude
3. Differential aptitude
4

. Vocational aptitude
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Chaplin’s dictionary of psychology defined Adjustment as

“The in the activities of an individual in over coming
obstacles and fulfilling needs”

1. Intelligence
2 Variations
3. Learning
4 Conflicts
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10.

Find the odd pair

1. L.L. Thurston — 7 types of mental abilities
2 Gardener — 8 types of intelligence

3. Spearman — three factor theory

4 Thorndike — multiple factor theory

et 126 Uit

TS R — o AL
o8- k2

Ao S 3

NIV S Y

[E—

The defense mechanism where the person’s painful experiences
are forgotten by sending them to the unconscious mind is known
as

Displacement
Sublimation

1
2
3. Repression
4

. Regression
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1.

12.

Find out the correct statement with regard to learning

1. Learning is a process, not the product

2 Learning means only product, not the process
3. Learning means temporary change

4 No relation between learning and maturity
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A student to choose either Maths or Biology as his course of
study where he is interested in photography. This comes under

the following type of conflict
1. Approach - Approach
2. Approach - Avoidance
3. Avoidance - Avoidance

4. Double approach — Avoidance
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13.

14.

The individual factor that influences learning

1.

2
3.
4

Aptitude
Home environment

Curriculum

Difficulty level of the item of learning
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Which one of the following belongs to affective domain

1.

2
3.
4

Imitation
Manipulation
Analysis
Valuing

2
3
4
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15.

16.

According to Maslow’s ‘theory of hierarchy of needs’, the
highest level of need

1.

2
3.
4

Physiological need
Recognition need
Safety need

Self-actualization
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The first stage of concept formation

1.
2.

Comparison with past experiences

Identification of common characteristics in past
experiences

Acquiring sensations through sense organs

Expressing common characteristic in the form of symbols
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17.

18.

The following is not the characteristic of “Perception”

1.

2
3.
4

Perception depends on Sensations
Perception involves meticulous observation
Perception can be directly ascertained

Perception involves attention and thinking
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“Tachistoscope’ instrument is used for the assessment of

1
2.
3.
4

Personality
Attitude

Span of attention
Intelligence
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19.

20.

The type of transfer of learning occurs when a ball badminton
player starts learning shuttle badminton

1.
2.
3.

4

Positive
Negative
Zero

Bilateral
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Identify the wrong pair

1.

2.
3.
4

Instructional theory - Bruner
Classical conditioning - Skinner
Insightful learning - Kohler
Cognitive development — Piaget
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21.

22.

The term ‘group dynamics’ was introduced by
1. Koffka

2 Bandura

3. Kurt Lewin

4 Carl Rogers
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Curriculum refers to
1. Curricular
2. Curricular + co curricular
3. Co curricular + Extra curricular
4. Curricular + Co curricular + Extra curricular
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23.

24.

25.

Etiquette to be followed while using internet
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Netiquettes

Online formalities

Online Regulations

Net formalities

Total Chapters, and parts in NEP — 2020

WD

AT U s 1 2k NEP — 2020
5, 20
8, 25
27, 4
15, 5

Expand ‘DIKSHA’

sl e

<61 ‘DIKSHA’
Digital Infrastructure for Experience Sharing
Digital Infrastructure for Knowledge Sharing
Digital Intelligence for Experience Sharing

Digital Intelligence for Knowledge Sharing



26.

27.

28.

The main objective of National Mission of F.L.N
1. to enhance Vocational skills

2 for reading & writing

3. for Adult Education
4

for primary literacy and numeracy skills
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The maximum storage capacity of ‘CD’
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1. 1 GB

2. 700 MB
3. 10 GB
4. 1 TB

‘LED’ stands for
¢ ‘LED’
1 Light Emitting Diode
2 Light Emitting Display
3. Light Explore Display
4 Light Explore Digital



29.

30.

Minimum Attendance for ‘Amma Vodi’ scheme eligibility
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70%
75%
80%
60%

Author of the book “Civilization and Progress”

1.

2
3.
4

Gandhiji
Radha Krishnan
Ambedkar
Tagore
= Z " “Civilization and Progress”
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61.

62.

63.
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How would you refuse your neighbour’s request for permission
to use your new mobile phone?

Choose your response from the following.

1.

2
3.
4

Sorry, it is not possible. I want to present it to my friend.
You are not a good man. So, I don’t give it to you.
Thank you very much!

It doesn’t matter.

Choose the sentence that can be used to give a suggestion.

1.

2
3.
4

I’d love to.
Oh, that’s a good idea!
Hearty congratulations!

We’d better go to a movie.

Choose the option that should be included at the top right hand
side of a formal letter.

1.

2
3.
4

recipient’s address
sender’s address
date

salutation



The primary purpose of a biographical sketch is:

1. to entertain the reader with anecdotes

2. to capture the essence of someone’s life in a concise
manner.

3. to provide a detailed account of a person’s entire life

without facts.

4. to analyze the psychological motivations of the subject.

Choose the correctly punctuated sentence.

1. What’s come over you, master? he asked.

2 “What’s come over you, master,” he asked.
3. What’s come over you master? he asked

4 “What’s come over you, master?” he asked.

Trains do not / run / very fastly / on this track.

A B C D
Choose the part that has a grammatical error.
1. A
2 B
3. C
4 D

Choose the suffix that suits to get the adjectival form of the word
‘beauty’

1 ful

2 full
3. fully
4 ness



68.

69.

70.

71.

The word ‘deplorable’ has stress on:

1.

2
3.
4

The first and the third syllables
the second syllable

the third syllable

the first syllable

Choose the meaning of the idiom ‘at a loss’.

1. to do it intentionally

2 not knowing what to do.

3. to make someone angry.

4 to take advantage.

Why don’t you ___ _ your ideas on paper?

Choose the option that fits the blank.

1.

2
3.
4

set up
set in
set out

set down

Choose the mis — spelt word out of the given options

1.

2
3.
4

tingles
vibration
resonences

intriguing



72.

73.

74.

75.

Choose the option that can be used as a one — word substitute for
“one who spends too much”.

1 spendthrift
2 theist
3. linguist
4

mercenary

You really gave me a fright when you crept up behind me like
that.

Choose the synonym of the word ‘fright’
1. comfort

2 soothe
3. startle
4

solace

Siva Subramania Iyer was not perturbed, nor did he get angry
with his wife.

Choose the right pair of opposite words of the word ‘perturbed’.
1. disturbed - worried

2 rattled - pacified

3. tranquilized - soothed
4

discomposed - confused

Choose the sentence with the correct use of articles
1. Children play the cricket.

2 The children play cricket.

3. Children play cricket.

4 The children the play the cricket.



76.

7.

78.

79.

She had always been bad languages.
Choose the preposition that fits the blank.

1. over
2. at
3. with
4 n

Fire and water had damaged the desk before the author found it.
In the above sentence ‘had damaged’ describes:

1. near future

2 future

3. earlier past
4

unreal past

Gathergold is arriving tomorrow.

The above sentence indicates:

1. past time

2 future time

3. present time

4 discontinued past.

Someone asked, “Why has thief left the vest behind?”
Choose the reported speech of the sentence above.

1. Someone asked who had the thief left the vest behind.
2 Someone asked why the thief had left the vest behind.
3. Someone asked why has the thief left the vest behind?
4

Someone asked why if the thief had left the vest
behind?



80.

81.

82.

83.

84.

Elections to the Lok Sabha every five years.

Choose the option that completes the sentence meaningfully.
1. are held by

2 is hold by

3. were hold to

4 are held

There _______ alot of people in the park.
Choose the verb that fits the blank.

1. is

2 isn’t

3. was

4 were

Identify the noun clause from the following.

1. I will not go until he arrives

2 Come when you like.

3. I know the girl who won the prize

4 I know you have great regard for me.

Choose the interjection that shows ‘hesitation!’
1. Ev!

2. Oh!
3. Ah!
4 Oho!

Choose the word that is a noun from the following.
1. humble

2 blunt
3. impolite
4

datum



85.

86.

87.

88.

His father was a high school teacher. He was an avid reader of
English literature.

Identify the true statement about the sentences given below.

1. Both are complex Sentences

2. Both are in present tense

3. Bothe the sentences can be combined as a single sentence
using ‘and’

4. Both are not simple sentences.

The tour guide was _____ informative that we did not need to

read our guide book.

Choose the word that fits the blank.

1. neither

2. N

3. either

4 in spite of

She was unable to attend the party _ her marriage
engagement.

Choose the correct phrasal preposition that fits the blank.

1.

2
3.
4

in addition to
due to
in case of

in place of

May I use your mobile phone?

The above sentence indicates:

1.

2.
3.
4

making a suggestion
expressing possibility
giving permission

taking permission



89.

90.

91.

Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely to
listen and pay attention to what other people are saying. By
taking a backseat, introverted leaders encourage others to suggest
ideas, contribute actively and take initiative, thus increasing
morale and motivation.

As stated in the passage, introverted leaders contribute to
increasing morale and motivation by:

1. dominating conversations and ideas

2 being outgoing and charismatic

3. encouraging others to suggest ideas and take initiative
4 socializing and networking effectively

Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely to
listen and pay attention to what other people are saying. By
taking a backseat introverted leaders encourage others to suggest
1deas, contribute actively and take initiative, thus increase morale
and motivation.

Introverts make better leaders because they are
1. interested

2 attentive

3. attention - seeking

4

alluring

The smallest composite number is
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92.

93.

94.

&S sk e

Additive Identity
1. -1

2. 0

3.

4, —-a

General form of a rational number

1. p/q, p and q are integers, q # 0
p/q , p and q are integers, q =0
q/p, p and q are integers, q # 0

il

p/q, p and q are whole numbers, q =0
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Which of the following is a FALSE statement

kb L i

1. loga xy = loga x+ loga y

2. (@™"=am™

3 a‘: _ a:
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4. log. x™ = m.logax



95.

96.

97.

AcBthen ANB =

1. o
2. A
3. B
4. AUB

-ANB_AcB

The portion of a cake which is not possible to eat

1. 30%
2. 50%
3. 100%
4. 120%

Profit or Loss is calculated on

1. Cost price

2. Selling price
3. Discount

4. Marked price
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98.

99.

100.

An angle of 98" is known as

1.

2.
3.
4

Reflex angle
Right angle
Obtuse angle

Acute angle

<tk o5 98°
Jg;.:’u 1
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The sum of exterior angles of a regular polygon

il

90°

180°
360°
400°

4“_J}€gugﬁl/’&/léidu/§(kvg

Number of independent measurements to construct a
quadrilateral uniquely
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101.

102.

The famous Pythagoras theorem is also known as

1.

2
3.
4

b=

Thales Theorem
Euclids Theorem
Bhaskara Theorem

Baudhayan Theorem

X fiu

=L h} is the formula for

a{ i

[4

Mode
Median
Mean

Range
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103.

104.

In general, this will be taken on X-axis when frequency polygon
1s drawn independently.

1. Classes
2 Class mid values
3. Frequencies
4 Cumulative frequencies
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105. Area of a Trapezium

1.
2.

3.

2 (1+b) sq.units
Ibh sq.units

1
— ab sqg.units
> q

1
5 h (a+b) sq.units

106. (7 ri+71?) is the formula for

1.
2.
3.
4.

T.S.A of a sphere
Volume of a sphere
C.S.A. of a cone
T.S.A. of a cone

S

JUEIE, 234b) .1
JGEiE,bh .2
JUEIE %ab 3

JUEIE %h (a+b) .4
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107.

108.

0
X

In a sector ——x2nr represents
360

Area
Circumference

1
2
3. Length of the arc
4

Diameter
et S %z)ox 21 OB L
LT
b 2
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The volume of the largest right circular cone that can be cut out
of a cube whose edge is 7cm.

1. 89.83 cm

2. 100 cu.cm
3. 89.83 sq.cm
4. 89.83 cu.cm
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109. The perimeter of a regular pentagon is 100cm. The length of its
each side is

J?Kbu/;[,u’lb.}':c‘_ 100cm. )lalgu}f'/b{l

1. 20cm
2. 15cm
3. 10cm
4. Scm

110. A die is thrown once. The probability of getting a Prime Number
is

u’gKLﬂJ’b)ﬁ)/’éJ!J:Lf%é’/.@fig.g

L2
6
2 4
2
3. 2
2
4. 1

111.  The point (0,— 4) lies on
1 positive X - axis
2 negative X - axis
3. positive Y - axis
4 negative Y - axis
<Ol (0.-4) &
29X o N
X Q‘/ 2
Y - 3
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112. The slope of line joining (0,0) and (x/g ,3)
Js6bsdis it (/3 ,3) 291 (0,0) b

1. 3
2. 43
3. 4
3
4 1
J

113.  Which of the following is NOT a trigonometric identity
< U e LRk e
1. Sin’0+Cos’0=1
Sec’0—tan’0 =1for0 <0 <90°
Cosec’ 0—Sec’0=1
1+Cot’0 = Cosec’ for0<0 <90’

i

114. Sec A (1-SinA) (Sec A +tan A) =

1. 1
2. 0
1
CosA

4. tan A



115.

116.

The author of ““ Siddanta Siromoni” book which consists of
4 parts like the popular “Leelavati Ganitham™

1. Srinivasa Ramanujan
2 Brahma Guptha

3. Aryabhatta

4 Bhaskara II
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As Leibnitz stated ‘Music is modern internal practice of

1
2
3
4

arithmetic without knowing that behaving with numbers’. This is

1. Utilitarian Value
2. Moral Value

3. Aesthetic Value

4 Disciplinary Value
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117. Deductive method from Generalisation to specific is introduced
by

1. Comenius
2 Armstrong
3. John Dewey
4 David Horsburg
Yok L 3 AE1 I (S el
s
Lid 2
Seide .3
J NS 4

118. Generally, the percentage of learning by ‘writing while seeing’ in
‘Multi Sensor Approach’ is

A‘.’:Kgbﬁé/)fkd/)&‘é&ﬂzg’ut‘.@)fﬁ

1. 30%
2. 50%
3. 70%
4. 90%



119. The proposal to start mathematics clubs in the schools was
initiated by

120.

1.

2
3.
4

1835 Macauley’s minutes
1952 Secondary Education Commission
1986 National Policy on Education

1946 University Education Commission

A5k 1835
H 5 5961952
ST 89 1986

P A G vy 1946

X class Public Examinations belongs to the following type

1.

2.
3.
4

Formative Evaluation
Summative Evaluation
Diagnostic Evaluation

Progresstic Evaluation

1
2
3
4
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121.

122.

The motion of a ball along the ground is

1. Rotational motion

2 Rectilinear motion

3. Rectilinear and Rotational motion
4 Periodic motion
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A block of wood is kept on a table top. The mass of wooden
block is 5 kg and its dimensions are 40 cm X 20 cm X 10 cm.
Find the pressure exerted by the wooden block on the table top
with its sides of dimensions 20 cm x 10 cm. (g = 9.8 m/s?)

Ao L1915 kg &JJL%LJ}J-C"_&'K%{.K}(G;{LL;%&'{’
;bfld:u)'i/d/x,z{u’igﬂ.uj 40 cm X 20 cm x 10 cm.
(2= 9.8 M/s2)-ZE o851 d_ st o et 20 cm x 10 e,

1. 612.5Nm™
2. 612.5Nm’
3. 2450Nm’

4. 2450Nm™



123.  Sound can travel through
1. vacuum
2 solids, liquids and gases
3. only solids and liquids
4 only vacuum and gases
4‘_‘36 S sl gt
|
u”“{/;la Wl s 2
e Wl s Vel 3
4

J/"J//J’;U}J/‘p



124.

Select the correct match of following groups (X) and (Y)

Group (X) Group (Y)
1. Absolute refractive index a. n,sini =n,sinr
1. Relative refractive index b.n=c/v
thickness of slab

1. Snell’s law C. — - -
thickness of slab - vertical shift

1v. Refractive index of a glass slab d. n,, = ‘% = ’%
2 1

28028 U (Y) 4 (X) oS e

(V) (X)or)
nsini=n,sinr .a TS e 1
n=clv .b L}JWIJQI A1

Sewle ol &2 .
i .C K& i

(éf}”d/c.,&'/—J,é'J:rf)
m=" =" Uik S LEE v
2 1

1 1—-b,ii—d,iii—a,iv—c
2 1—a,ii—b,1ii—c,iv—-d
3. 1—-c,ii—d,ii—b,iv—a
4

i—d,ii—c,iii—a,iv—->b



125. The unit of magnetic flux density is

058 2t el

g
G-

Weber
Tesla

Newton / m?

sl e

Newton / m?

126. This is NOT a member of the solar system
1. A constellation
2. A satellite
3. An Asteroid
4 A Comet

C‘-Jj JNQW‘” ( L
e Ll
2 2

Wae .3

2l 4



127.

128.

The impurities present in the ore is called

1.

2
3.
4

Gangue
Flux
Slag

Mineral

B eIl b feled

1
2
S 03
4

The chemical change among the following

1.

2.
3.
4

melting of ice
burning of coal in air
freezing of water

heating of hack saw blade
%U&/‘f"&&”{v{’:’uﬁh}:”@”
C«Vfg_}/. 1
Lot S e 2
WY 3
/7 (f P 4



129.

130.

131.

The bond angle of NH, molecule is

AN

120°
180°
107°48'
104°31"

6l NH,

A solution contains 40g of common salt in 320g of water. Then
its concentration in terms of mass by mass percentage of the
solution is

K IEIF Jrad e cad e vl U 40g QY 320g EJF L

sl

10.1%
10 g.
11.1g
11.1%

The natural fiber among the following

1.

2.
3.
4

wool
nylon
PVC
polythene

Ex
‘L;J/J/ﬁ,ui"_)j;.z’
o1 1

okt 2

PVC 3
o4



132.

Select the correct answer indicating the increasing order of the
following fuels on the basis of their calorific values

1. LPG

1l. Diesel

iii.  Wood

1v. Hydrogen

_._,1,254 Liss S o 27 8@y i S Ui $ar S Usz it st

LS
LPG 1
Jzs i

$A i

d?uf:cj’l[ AV
1, 11, 111, 1V
11, 11, 1, 1V

1v, 111, 11, 1

sl e

i1, 1ii, 1, 1v



133.

Correct match among the following

Group A
1) Biotin
i1) Tocoferol
1i1) Niacin

1v) Thiamin

B o)
Sadsz (a
SAs (b
Pl (e
Sdeess
i-a, ii-b, iii-c, iv-d
i-b, ii-c, iii-d, iv-a

1-c, 11-d, iii-a, iv-b

sl .

i-d, ii-a, iii-b, iv-c

Group B

a) Beri beri

b) Nervous disorders

c) Fertility disorders

d) Pellagra

c‘_,jﬁg AN
Acs)

S G

JA i

ot Gii

o= Qv



134. The first sharp sound of the heart “LUB” is produced due to

1. closing of tricuspid and bicuspid valves
2 closing of pulmonary and systemic valves
3. closing of tricuspid and pulmonary valves
4 closing of bicuspid and systemic valves

! JL%!&“J”]I}W&JJ}
Ly KU LSl 81 S0 A
L6yl wb)tuﬁ/ 2
m/&.t{urmfj s M- 3
Lsr U L SIS s 4

135. Lichen is an example for
1. Parasite
2 Insectivore
3. Saprotroph
4 Symbiont
< Jedu '«fé u
&
) 2
#83
S 4



136.

137.

‘Body building foods’ among the following
1 rice and wheat
2 milk and fish
3. groundnuts and til
4 papaya and mango
4“_5‘15«56!51«25;50(()"&&5@/)
Umfmd)lg N
(}{ 1y’313 2
J“AU{ ..f I 3
"Eﬂ% 4

The phase of cell cycle in which cell organelles divide

Jo KT SO §B s

1. G1 phase
2. S phase

3. G2 phase
4. M phase



138.

139.

Antibiotics are not effective against

1.

2
3.
4

typhoid
cholera
tuberculosis
small pox
I i d L A
yegell 1
o 2
g 3
44 4

The odd one with respect to marine fisheries

1.

2
3.
4

Sardines
Silver carp
Bombay duck
Mackerel
-« (odd one)i* ISPy
Sl 1
K2
Sl 3
JF 4



140. The concept of “Ecological pyramids” was first introduced by

141.

1.

2
3.
4

Charles Lyell
Charles Darwin
August Weismann
Charles Elton
(- JA&LJ!J;.::_?«//»;’ Z,“rl ﬁ@yﬂ.”
S .
UJ/B’UJ Je 2
VT 3
4

u)"&lujjlg

Cone shaped trees with sloping branches are normally seen in

1.

2.
3.
4

deserts
grass lands

mountain regions

plains
uthnguL‘ﬁ:uj&?Jg EC e sl gl b YE
ol 1
ul,yiu’kj

2
iy 3
4

i



142.

Incorrect statement from the following

1.
2.

Chromosomes are composed of DNA and proteins.

DNA contains the information necessary for constructing
cells.

Functional segments of DNA are genes.

DNA is present only in the nucleus of the cell.

ujZ_nﬁ/ /vuf’;{,/,lguil_df:(u’m/
byt f L LU S i3
W LI FE L IS
c‘_ttgggufg}(/ciﬁdﬁgl-u:l_dﬁ

1

2
3
4



143.

Assertion (A): Many young people get acne on the face

during puberty.

Reason (R): During puberty, the secretion of sweat

glands and sebaceous glands increases.

Choose the correct answer

1.

2
3.
4

A correct; R incorrect

A incorrect; R correct

A and R both correct; R is the correct explanation for A

A and R both correct; R is not the correct explanation for

A

u,?LnLg‘.LW&/{,u;ﬁ,Luf)&fuﬁzuﬁﬁﬁj : (A) L'ff)
Ja!)!}lﬁuﬁ&%uﬂ»ﬁé%J/»L&}U . (R) »»

o xr il

Lozt

bk R sl ZA
4‘_54 R ust bk A
/. ol & A R Ui Rl A
S ool § A Rl U R s A

1

2
3
4



144. These seeds disperse through air

145.

1.

2
3.
4

Drumstick
Xanthium
Castor

Balsam
BLli_s 2 35 In
(L1 1
((:}; “7)s / F)
Sx 3

S 4

The first and foremost skill required for the scientific experiment

1.

2
3.
4

estimation
observation
conducting experiment

measuring
AP A Knd £ F s

cEoist .1

Iy 2

- S

Je 4



146. The last step in the Psychomotor domain

147.

1.

2
3.
4

Imitation
Precision
Manipulation
Naturalisation
,b/d)TKLH&J])f
Sde 1
Fs 2
AEs 3
b 4

Which of the following is not an Academic standard as per the
State Curriculum Framework - 2011

1.

2
3.
4

Conceptual understanding
Creativity
Information skills and projects

Concern to bio diversity
e S N L S 53 £2011- B3 1G
e
2
(K,f"uluf/wJL/L}(tatk” 3
2 F LAY 4



148.

149.

“Student gives reasons for water pollution.” — Instructional
objective of this specification

1.

2
3.
4

Knowledge
Understanding
Application
. Skill

c‘-uy{/ycﬂf”u’.‘./}ul(tj/ﬁd“c‘_t‘/uy:«(,ﬁﬁ&di}f@‘l?‘_'Jlb”
S 1
2
Jur 3
<Ay 4

According to Kilpatrick classification — “Project on collection of
plants and animal products and parts” is a type of

1.
2.
3.
4

J’CCL,

Productive project
Utilization project
Problem project

Training project

/'/Cf'/u,v‘?/)!catci‘” u(u;/:}lg/;lu»;’:”&lbf Ld#;ud/u(}iﬁf
e
1}“}‘61131&, 1

e 19> 2
G 3
G 4

3



150. Learning percentage through smell

sl e

11%
3.5%
1.5%
1.0 %



